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TRIGONOMETRY

Practice Set 6 1

1. If sin  , then find tan .

Watch Video Solution

θ = and cos θ =
7
25

24
25

θ

2. If , then tan θ = 1 =
sin θ + cos θ

sec θ + cos ecθ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wUwuNqjTbkyd
https://dl.doubtnut.com/l/_HsGscHFTfEwB


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

1

2

√3

2

0

3. Prove that : 

Watch Video Solution

+ cos θ = sec θ
sin2 θ

cos θ

https://dl.doubtnut.com/l/_HsGscHFTfEwB
https://dl.doubtnut.com/l/_Xfb4yYzNe0sJ


4. Prove that: ,if 




= , if 

Watch Video Solution

√
1 − sin θ

1 + sin θ
= {sec θ − tan θ}

− < θ <
π

2

π

2

−sec θ + tan θ < θ <
π

2

3π

2

5. prove that  = 

Watch Video Solution

cot θ + tan θ cos ecθ. sec θ

6. Prove that 

 


Watch Video Solution

(i) = (cosecθ + cot θ)
sin θ

(1 − cos θ)

(ii) = (sec θ + tan θ)
1

(sec θ − tan θ)

https://dl.doubtnut.com/l/_rRO0zuEseFLB
https://dl.doubtnut.com/l/_PkIYgHx4IBRa
https://dl.doubtnut.com/l/_8Bc8PgZyv07r


7. Prove that  = 

Watch Video Solution

sin4
θ − cos4 θ 1 − 2 cos2 θ

8. Prove that : 

 = = 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sec θ + tan θ
cos θ

1 − sin θ

1 + sin θ

cos θ

1

1 + sin θ

1

1 − sin θ

cos θ

1 + sin θ

cos θ

1 − sin θ

https://dl.doubtnut.com/l/_8Bc8PgZyv07r
https://dl.doubtnut.com/l/_v85hEsXtUz9S
https://dl.doubtnut.com/l/_a2XVotAMttYg


9.  then prove that 

Watch Video Solution

tan θ + = 2
1

tan θ
tan2 θ + = 2

1

tan2 θ

10. Prove: 

Watch Video Solution

+ = sin A cos A
tan A

(1 + tan2 A)
2

cot A

(1 + cot2 A)
2

11. prove that = 1.

Watch Video Solution

sec4 A(1 − sin4
A) − 2 tan2 A

12. prove that  = 
tan θ

sec θ − 1

tan θ + sec θ + 1

tan θ + sec θ − 1

https://dl.doubtnut.com/l/_a2XVotAMttYg
https://dl.doubtnut.com/l/_FPV53fU8h1Q4
https://dl.doubtnut.com/l/_Nzeg3hKbCvCr
https://dl.doubtnut.com/l/_xHWzCRQFJq6x
https://dl.doubtnut.com/l/_rC6KezEI07Fh


Practice Set 6 2

Watch Video Solution

1. Solve the following question:(1) A person is stading at a

distance of 80 m from a church looking at its top. The angle

of elevation is of . Find the height of the church.

Watch Video Solution

45∘

2. From the top of a lighthouse, an observer looking at a boat

makes an angle of depression of . If the height of the

lighthouse is , then find how far is the boat from the

lighthouse. 

60∘

90m

(√3 = 1.73)

https://dl.doubtnut.com/l/_rC6KezEI07Fh
https://dl.doubtnut.com/l/_ogvWgr7CdCJd
https://dl.doubtnut.com/l/_KquP6PGhgqW8


Watch Video Solution

3. Two buildings are facing each other on either side of a road

of width 12m. From the top of the first building, which is 10 m

high, the angle of elevation of the top of the second is .

What is the height of the second building?

Watch Video Solution

60∘

4. Two poles of heights 18 metre and 7 metere are erected on

a ground. The length of the wire fastened at their tops in 22

meters. Find the angle made by the wire with the horizontal.

Watch Video Solution

https://dl.doubtnut.com/l/_KquP6PGhgqW8
https://dl.doubtnut.com/l/_XXM25gSZ6Daa
https://dl.doubtnut.com/l/_NzHVgKoy2lij


Problem Set 6

5. A storm broke a tree and the treetop rested 20 m from the

base of the tree, making an angle of  with the horizontal.

Find the height of the tree.

Watch Video Solution

60∘

6. A kite is flying at a height of 60 m above
 the ground. The

string attached to the kite is temporarily tied to a point on

the ground. The inclination of the string with the ground is


 . Find the length of the string, assuming that there is no

sl

Watch Video Solution

60o

https://dl.doubtnut.com/l/_XuDrY7oWPQU9
https://dl.doubtnut.com/l/_h0AhbJAEIYzn


1.  = ?

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

sin θ. cos ecθ

1

2

√2

2. …….

A. 

B. 

cos ec45∘ =

1

√2

√2

https://dl.doubtnut.com/l/_5B8X7PH0tLyb
https://dl.doubtnut.com/l/_MdN9Q6OI01IZ


C. 

D. 

Answer: B

Watch Video Solution

√3

2

2

√3

3. (3)  =?

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

1 + tan2 θ

cot2 θ

cos ec2θ

sec2 θ

tan2 θ

https://dl.doubtnut.com/l/_MdN9Q6OI01IZ
https://dl.doubtnut.com/l/_JXn5kPiL4pNu


Watch Video Solution

4. What we see at a higher level from the horizontal line,

angle formed is …………..,

A. angle of elevation

B. angle of depression

C. 0

D. straight angle.

Answer: A

Watch Video Solution

5. If  = 11/61 find the values of  using trigonometric

identity.

sin θ cos θ

https://dl.doubtnut.com/l/_JXn5kPiL4pNu
https://dl.doubtnut.com/l/_tosuDqKjplE3
https://dl.doubtnut.com/l/_46VvQxemjkau


Watch Video Solution

6. (1) If =2, find the values of other trigonometric ratios

using the identities.

Watch Video Solution

tan θ

7. If  = 13/12, find values of other trigonometric ratios.

Watch Video Solution

sec θ

8. Prove that : 

Watch Video Solution

sec θ(1 − sin θ)(sec θ + tan θ) = 1

https://dl.doubtnut.com/l/_46VvQxemjkau
https://dl.doubtnut.com/l/_e65NfG7OaMhE
https://dl.doubtnut.com/l/_qf8dr3UJJv8I
https://dl.doubtnut.com/l/_ZftF3PQruntv


9. Prove : .

Watch Video Solution

(sec θ + tan θ)(1 − sin θ) = cos θ

10. Prove that : 

Watch Video Solution

sec2 θ + cosec2θ = sec2 θ ⋅ cosec2θ

11. Prove the following :  =

Watch Video Solution

cot2 θ − tan2 θ cos ec2θ − sec2 θ

12. Prove that : 

tan4 θ + tan2 θ = sec4 θ − sec2 θ

https://dl.doubtnut.com/l/_TUlngUBiAKak
https://dl.doubtnut.com/l/_ikRgnxirLqsp
https://dl.doubtnut.com/l/_UNCjHoyODUD1
https://dl.doubtnut.com/l/_UbfUWz6grhRW


Watch Video Solution

13. Prove 

Watch Video Solution

+ = 2 sec2 θ
1

1 + sin θ

1

1 − sin θ

14. Prove the following :  = 

Watch Video Solution

sec6 x − tan6 x

1 + 3 sec2 x × tan2 x

15. Prove the following :  = 

Watch Video Solution

tan θ

sec θ + 1

sec θ − 1

tan θ

https://dl.doubtnut.com/l/_UbfUWz6grhRW
https://dl.doubtnut.com/l/_ZMkweUAP7thG
https://dl.doubtnut.com/l/_aMfLCsxmI1Nw
https://dl.doubtnut.com/l/_jAV1JisnkIIQ


16. Prove the following: 

Watch Video Solution

= sec2 θ + tan θ
tan3 θ − 1

tan θ − 1

17. Prove that 

Watch Video Solution

= .
sin θ − cos θ + 1

sin θ + cos θ − 1

1

(sec θ − tan θ)

18. A boy standing at a distance of 48 meters from a building

observes the top of the building and makes an angle of

elevation of  . Find the height of the building.

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_zE2EOatbPZ7e
https://dl.doubtnut.com/l/_kpFrWGS2rLDD
https://dl.doubtnut.com/l/_3Jy822o5kjvc


19. From the top of a lighthouse, an observer looks at a ship

and finds the angle of depression to be . If the height of

the lighthouse is 100 m, then find how far is that ship from

the lighthouse.

Watch Video Solution

30∘

20. Two buildings are in front of each other on a road of

width 15 meters. From the top of the first building, having a

height of 12 meters, the angle of elevation of the top of the

second building is . What is the height of the second

building?

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_OKwqBSKk9KE5
https://dl.doubtnut.com/l/_X6TOgvvl3euH


21. A ladder on the platform of a firebrigade van can be

elevated at an angel of  to the maximum. The length of

the ladder can be extended upto .If the platform is 

above the ground, find the maximum height from the ground

upto which the ladder can reach 

Watch Video Solution

70∘

20m 2m

(sin 70∘ = 0.94)

22. While landing at an airport, a pilot made an angle of

derpession of . Average speed of the plane was .

The plane reached the ground after 54 seconds. Find the

height at which the plane was when it started landing. 

Watch Video Solution

20∘ 200km /h

(sin 20∘ = 0.342)

https://dl.doubtnut.com/l/_HUjgaGjmjc0z
https://dl.doubtnut.com/l/_fxtfRXRl1BoE


Activities For Practice

1. If  = 7/25 then find .

Watch Video Solution

sin θ cos θ and tan θ

2. Solve the following question:(1) A person is stading at a

distance of 80 m from a church looking at its top. The angle

of elevation is of . Find the height of the church.

Watch Video Solution

45∘

3. Prove : .

Watch Video Solution

(sec θ + tan θ)(1 − sin θ) = cos θ

https://dl.doubtnut.com/l/_SMkZTGuFT9J2
https://dl.doubtnut.com/l/_Q1273jLWj6R0
https://dl.doubtnut.com/l/_MnoM3cuzmF4R


Multiple Choice Questions

1. 

A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

cos θ. sec θ =

1

2

√2

2.  =

A. 0

tan θ. tan(90∘ − θ)

https://dl.doubtnut.com/l/_3StrQp352kEs
https://dl.doubtnut.com/l/_lIsTtefPzNxx


B. 

C. 1

D. 

Answer: C

Watch Video Solution

1

√3

√3

3. Choose the correct answer in each of the following

questions: 

If 

A. 

B. 

C. 

cos θ =  then tan θ = ?
4
5

3

5

3

4

4
3

https://dl.doubtnut.com/l/_lIsTtefPzNxx
https://dl.doubtnut.com/l/_To5M2XSePFfL


D. 

Answer: B

Watch Video Solution

5

3

4. If  , then  =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot θ =
7
8

tan2 θ

7
8

8

7

49

64

64

49

https://dl.doubtnut.com/l/_To5M2XSePFfL
https://dl.doubtnut.com/l/_b33wFnVrLmTC


5. If  , then  =

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

tan θ =
4
3

3 sin θ − 4 cos θ

4
5

3

5

6. Which of the following is the value of  ?

A. 

B. 

sec 30∘

√3

1

√3

https://dl.doubtnut.com/l/_AGLctaZ9uEXb
https://dl.doubtnut.com/l/_FdDe8tYZojCc


C. 

D. 

Answer: D

Watch Video Solution

√3

2

2

√3

7.  =

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

2tan 30∘

1 + tan2 30∘

sin 30∘

sin 60∘

cos 60∘

tan 60∘

https://dl.doubtnut.com/l/_FdDe8tYZojCc
https://dl.doubtnut.com/l/_ilhODg7hdwkv


Watch Video Solution

8.  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − cot2 45∘

1 + cot2 45∘

cos 90∘

sin 90∘

sin 45∘

cos 45∘

9.  ……

A. 

1 + cot2 θ =

sec2 θ

https://dl.doubtnut.com/l/_ilhODg7hdwkv
https://dl.doubtnut.com/l/_LkOoKFKHaVdR
https://dl.doubtnut.com/l/_H88J0BKQjEDe


B. 

C. 

D. 

Answer: C

Watch Video Solution

cos2 θ

cos ec2θ

tan2 θ

10. 

A. 0

B. 1

C. -1

D. 2

tan2(90∘ − θ) − cos ec2θ =

https://dl.doubtnut.com/l/_H88J0BKQjEDe
https://dl.doubtnut.com/l/_oOBQCwWFM7b6


Answer: C

Watch Video Solution

11. If  then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ = ,
24
25

sin θ

7
24

7
25

25

7

24

7

https://dl.doubtnut.com/l/_oOBQCwWFM7b6
https://dl.doubtnut.com/l/_owYMGVocAbiX


12. If 
 , then 
 
 (b) 
 (c) 

(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ =
3

4
cos2 θ − sin2 θ =

7
25

1 −
7
25

4

25

3

25

4

25

7

25

9

25

13. If  , then  =

A. 

cot θ =
3

4

sin θ − cos θ

sin θ + cos θ

1

7

https://dl.doubtnut.com/l/_wemauwY8vmZ8
https://dl.doubtnut.com/l/_e1rztWnhVqyD


B. 

C. 

D. 

Answer: A

Watch Video Solution

2

7

1

4

3

4

14. Find the value of 

A. 

B. 

C. 

D. 

1 + tan2 θ

1 + cot2 θ

sec2 θ

cos2 θ

cos ec2θ

tan2 θ

https://dl.doubtnut.com/l/_e1rztWnhVqyD
https://dl.doubtnut.com/l/_hywEPhx64kJ9


Answer: D

Watch Video Solution

15. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 − cos2 θ)cot2 θ

sec2 θ

cos2 θ

cos ec2θ

sin2 θ

https://dl.doubtnut.com/l/_hywEPhx64kJ9
https://dl.doubtnut.com/l/_UhLzAKMaO5VS


16. (Sec^2 θ − 1) (Cosec^2 θ − 1) =

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

sec2 θ

2 cos ec2θ

17. Write the value of 

A. 0

B. 1

cosec2θ(1 + cos θ)(1 − cos θ).

https://dl.doubtnut.com/l/_UPlJyaFD9O63
https://dl.doubtnut.com/l/_0Gdhhh9sCVFu


C. 

D. 

Answer: B

Watch Video Solution

sec2 θ

sin2 θ

18. =

A. 5

B. 

C. -5

D. 

Answer: C

W t h Vid S l ti

−
5

cot2 θ

5

cos2 θ

1

5

−
1

5

https://dl.doubtnut.com/l/_0Gdhhh9sCVFu
https://dl.doubtnut.com/l/_UwkAyoRjuOPo


Watch Video Solution

19. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
sin θ

1 + cos θ

cos θ

1 − sin θ

1 − cos θ

sin θ

1 − sin θ

cos θ

1 − cos θ

1 + cos θ

20. If  , then  =

A. 1

cos ecθ − cot θ =
1

3
cos ecθ + cot θ

https://dl.doubtnut.com/l/_UwkAyoRjuOPo
https://dl.doubtnut.com/l/_BgWEGx02Hplo
https://dl.doubtnut.com/l/_PeLsI8PsYtnB


B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

21. If  is equal to

A. 0

B. 1

C. -1

D. 2

sin θ + sin2 θ = 1  then cos2 θ + cos4 θ

https://dl.doubtnut.com/l/_PeLsI8PsYtnB
https://dl.doubtnut.com/l/_mc3qGc76Ukep


Answer: B

Watch Video Solution

22. If  and  , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ + cos θ = m sin θ − cos θ = n

m2 + n2 = 1

m2 − n2 = 1

m2 + n2 = 2

m2 − n2 = 2

https://dl.doubtnut.com/l/_mc3qGc76Ukep
https://dl.doubtnut.com/l/_agKvSzdgKsYu


23. When we see below the horizontal line , then the angle

formed is ………….. .

A. A Zero degree angle

B. the angle of depression

C. the angle of elevation

D. a straight angle

Answer: B

Watch Video Solution

24. If a pole 12 m high casts a shadow  long on the

ground then the sun's elevation is

4√3m

https://dl.doubtnut.com/l/_niS4zSQdqsRS
https://dl.doubtnut.com/l/_iRmnfKROt7h1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

45∘

60∘

90∘

25. A kite is flying at a height 80 m above the ground . The

string of the kite which is temporarily attached to the ground

makes an angle  with the ground. If there is no slack in

the string, then the length of the string is

A. 40 m

45∘

https://dl.doubtnut.com/l/_iRmnfKROt7h1
https://dl.doubtnut.com/l/_oBFpd3xAfG6j


B. 

C. 80 m

D. 

Answer: D

Watch Video Solution

40√2

80√2

26. The angle of elevation of top of the tower from a point P

on the ground is  . If the points is 45 m away from the

foot of the tower , then the height of the tower is

A. 45 m

B. 15 m

C. 

30∘

15√3

https://dl.doubtnut.com/l/_oBFpd3xAfG6j
https://dl.doubtnut.com/l/_om6GqOdfDXof


D. 

Answer: C

Watch Video Solution

20√3m

27. The angle of depression of a ship as observed from the

top of a lighthouse is  . If the height of the lighthouse is

200 m , then what is the distance of the ship from the foot of

the lighthouse ?

A. 200 m

B. 400 m

C. 100 m

D. 

45∘

200√3m

https://dl.doubtnut.com/l/_om6GqOdfDXof
https://dl.doubtnut.com/l/_p0oIE1tvAFEZ


Additional Problems For Practice Based On Practice Set 6 1

Answer: A

Watch Video Solution

1. If  , then find the value of .

Watch Video Solution

sin θ =
20

29
cos θ

2. If  , where  is an acute angle, find the value of 

 by using identities.

Watch Video Solution

sin θ =
8

17
θ

cos θ

https://dl.doubtnut.com/l/_p0oIE1tvAFEZ
https://dl.doubtnut.com/l/_Rh4hiWPeD0G1
https://dl.doubtnut.com/l/_IMO4KSjb6uzb


3. If  , where  is an acute angle. Find the value of

.

Watch Video Solution

cos θ =
3

5
' θ'

sin θ

4. If  then find the value of .

Watch Video Solution

sec θ =
25

7
tan θ

5. If  then find the values of  and .

Watch Video Solution

cot θ =
8

15
sin θ sec θ

https://dl.doubtnut.com/l/_5lphEyao0iVY
https://dl.doubtnut.com/l/_67w50l3cnym4
https://dl.doubtnut.com/l/_wUubBBKyEYCS


6. If  where  is an acute angle , find the values of

other trigonometric ratios using identities .

Watch Video Solution

sin θ = ,
5

13
θ

7. If  , then find the values of other trigonometric

ratios .

Watch Video Solution

tan θ =
20

21

8. If  , find the values of 

.

Watch Video Solution

5 sin θ − 12 cos θ = 0

sec θ and cos ecθ

https://dl.doubtnut.com/l/_n1BXKaulR8Us
https://dl.doubtnut.com/l/_QRRJag8KRDEv
https://dl.doubtnut.com/l/_Ll08dj1FuhNy
https://dl.doubtnut.com/l/_EontLzspJWm1


9. If  , then find the values of 

 .

Watch Video Solution

3 sin θ − 4 cos θ = 0

tan θ, sec θ and cos ecθ

10. If  then find the value of 

Watch Video Solution

cos θ =
√3

2

1 − sec θ

1 + cos ecθ

11. If 
, find the
value of 

Watch Video Solution

sin θ =
4
5

4 tan θ − 5 cos θ

sec θ + 4 cot θ

12. Prove that : 

= cos ecθ + cot θ
sin θ

1 − cos θ

https://dl.doubtnut.com/l/_EontLzspJWm1
https://dl.doubtnut.com/l/_NFMo1QtHz0yC
https://dl.doubtnut.com/l/_DsP3HrGWkZzs
https://dl.doubtnut.com/l/_AkKuSSidycSH


Watch Video Solution

13. Prove that : 

Watch Video Solution

tan θ − cot θ =
2 sin2 θ − 1

sin θ cos θ

14. Prove that : 

Watch Video Solution

√ = cos ecθ + cot θ
1 + cos θ

1 − cos θ

15. Prove the trigonometric identities:

Watch Video Solution

√ = cos ecθ − cot θ
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_AkKuSSidycSH
https://dl.doubtnut.com/l/_N9NpweEPtEXT
https://dl.doubtnut.com/l/_P483n8hbAvIZ
https://dl.doubtnut.com/l/_A6IsR6zL2pa9


16. Prove that 

Watch Video Solution

sec x + tan x = √
1 + sin x

1 − sin x

17. Prove that : 

Watch Video Solution

sec2 θ − cos2 θ = sin2 θ(sec2 θ + 1)

18. Prove that : 

Watch Video Solution

cos4 θ − cos2 θ = sin4 θ − sin2 θ

https://dl.doubtnut.com/l/_A6IsR6zL2pa9
https://dl.doubtnut.com/l/_P16tG36VOCP4
https://dl.doubtnut.com/l/_m6ExX8nA9h57
https://dl.doubtnut.com/l/_5U2Ntkw6mb4m
https://dl.doubtnut.com/l/_1a8r7E0nlN4a


19. Prove that 

Watch Video Solution

sin6 θ + cos6 θ = 1 − 3 sin2 θ cos2 θ

20. Prove that : 

Watch Video Solution

sin4 θ + cos4 θ = 1 − 2 cos2 θ + 2 cos4 θ

21. 

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

22. 

W t h Vid S l ti

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

https://dl.doubtnut.com/l/_1a8r7E0nlN4a
https://dl.doubtnut.com/l/_9qRib9gdHJBW
https://dl.doubtnut.com/l/_cq9BNkwKAXZ6
https://dl.doubtnut.com/l/_u5wbOXySxuRX


Watch Video Solution

23. Prove that 

Watch Video Solution

= .
cot θ + cosecθ − 1

cot θ − cosecθ + 1

1 + cos θ

sin θ

24. Eliminate .

Watch Video Solution

α, if x = r cos α, y = r sin α

25. Eliminate  from the equation

.

Watch Video Solution

θ

a = x sec θ and b = y tan θ

https://dl.doubtnut.com/l/_u5wbOXySxuRX
https://dl.doubtnut.com/l/_cXQonV7HMqo9
https://dl.doubtnut.com/l/_pCAOaNkC0lmA
https://dl.doubtnut.com/l/_C1U6tNJNVUfU
https://dl.doubtnut.com/l/_pf7MsgnruUif


Based On Practice Set 6 2

26. Eliminate  if 


and 

Watch Video Solution

θ x = a cot θ + b cos ecθ

y = a cos ecθ + b cot θ.

1. An observer at a distance of 10 m from a tree looks at the

top of the tree , the angle of elevation is  . 


What is the height of the tree ? ( )

Watch Video Solution

60∘

√3 = 1.73

2. From the top of a building , an observer is looking at a

scooter 

https://dl.doubtnut.com/l/_pf7MsgnruUif
https://dl.doubtnut.com/l/_F40ZjWXJL0rs
https://dl.doubtnut.com/l/_cgVmiN1mfDTL


parked at some distance away , makes an angle of depression

of . If the height of the building is 40 m , find how far 


the scooter is from the building. 

Watch Video Solution

30∘

(√3 = 1.73)

3. (8) From the top of a lighthouse, an observer looks at a

ship and finds the angle of depression to be . If the

lighthouse is 90 m, then find how far is that ship from the

lighthouse? 

Watch Video Solution

60∘

(√3 = 1.73)

4. A person
observed the angle of elevation of the top of a 

tower as . He walked
50m towards the foot of the tower 


along level ground and found the angle of
 elevation of the

30∘

https://dl.doubtnut.com/l/_cgVmiN1mfDTL
https://dl.doubtnut.com/l/_OCPgJvqydbxh
https://dl.doubtnut.com/l/_mRvEQAtS0VHU


top 

of the tower as 
. Find the
height of the tower.

Watch Video Solution

60∘

5. A person standing on the bank of a river observes that the

angle of elevation of the top of a tree standing on the

opposite bank is . When he moves 40 m away from the

bank, he finds the angle of elevation to be . Find the

height of the tree and the width of the river. 

Watch Video Solution

60∘

30∘

(√3 = 1.73)

6. To find the width the river, a man observes the top of a

tower on

the opposite bank making an angle of elevation . When he61∘

https://dl.doubtnut.com/l/_mRvEQAtS0VHU
https://dl.doubtnut.com/l/_mi9rMgXvASLP
https://dl.doubtnut.com/l/_CILymexj2wyH


moves  backward from bank and observes the same top

of the

tower, his line of vision makes an angle of elevationfo .


Find the height of the tower and width of the river.

Watch Video Solution

50m

35∘

(tan 61∘ = 1.8, 35∘ = 0.7)

7. Two buildings are in front of each other on either side of a

road of width 10 metres. From the top of the first building

which

is 30 metres high, the angle of elevation to the top of the

second

is . What is the height of the second building?

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_CILymexj2wyH
https://dl.doubtnut.com/l/_qTTp9RPZ6Gf7


8. The
 horizontal distance between two poles is 15m. The

angle of depression of the
top of the first pole as seen from

the top of the second pole is 
. If the
height of the second

pole is 24 m, find the height of the first pole. 

Watch Video Solution

30o

(√3 = 1. 732)

9. Roshani saw an eagle on the top of a tree at an angle of

elevation of , while she was standing at the door of her

house. She went on the terrace of the house so that she

could see it clearly. The terrace was at a height of . While

observing the eagle from there the angle of elevation was

. At what height from the ground was the eagle? 


Watch Video Solution

61∘

4m

52∘

tan 61∘ = 1.8, tan 52∘ = 1.28, tan 29∘ = 0.55, tan 38∘ = 0.78)

https://dl.doubtnut.com/l/_3L9zvPLRUY2b
https://dl.doubtnut.com/l/_UKlbbTGqFH7K


10. From the top of a building 60m high the angles of

depression of 

the top
 and the bottom of a tower are observed to be 

and 


. Find the height of the tower.

Watch Video Solution

300

600

11. A ship of height 24 m is sighted from a lighthouse. From

the top of the lighthouse the angle of depression to the top

of the mast and base of the ship is  respectively.

How far is the ship from the lighthouse ? ( )

Watch Video Solution

30∘ and 45∘

√3 = 1.73

https://dl.doubtnut.com/l/_UKlbbTGqFH7K
https://dl.doubtnut.com/l/_0ZFtlFPlSYYc
https://dl.doubtnut.com/l/_8YsMTbSKnIR9
https://dl.doubtnut.com/l/_yC3202wyl0XT


12. A tree
breaks due to storm and the broken part bends so

that the top 

of the tree
touches the ground making an angle of 
with

the
ground. 

The distance between the foot of the tree to the point where

the top 

touches the ground is 10m. Find the height of the tree.

Watch Video Solution

30∘

13. A tree is broken by the wind. The top of that tree struck

the ground 

at an angle of  and at a distance of 30 m from the root. 


Find the height of the whole tree. (  = 1.73)

Watch Video Solution

30∘

√3

https://dl.doubtnut.com/l/_yC3202wyl0XT
https://dl.doubtnut.com/l/_n0aeyWmy1iKz


Chapter Assessment

1.  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot 60∘

√3

1

√3

√2

1

√2

2. tan θ. cot θ =

https://dl.doubtnut.com/l/_n0aeyWmy1iKz
https://dl.doubtnut.com/l/_VVzUalMUHw0h
https://dl.doubtnut.com/l/_qjFIYOnAPNNQ


A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

√3

1

√3

3. When we see at a lower level , from the horizontal line ,

angle formed is ………..

A. angle of elevation

B. angle of depression

C. 0

https://dl.doubtnut.com/l/_qjFIYOnAPNNQ
https://dl.doubtnut.com/l/_KLPX7TrlUQGA


D. straight angle.

Answer: B

Watch Video Solution

4. If the distance of a point from the tower is equal to the

height of the tower , then find the angle of elevation of the

top of the tower from that point .

Watch Video Solution

5. If  , then find the values of  and .

Watch Video Solution

cos ecθ =
13

12
cot θ sin θ

https://dl.doubtnut.com/l/_KLPX7TrlUQGA
https://dl.doubtnut.com/l/_MbvRZjgpSxn2
https://dl.doubtnut.com/l/_fV7kvwidrC8V
https://dl.doubtnut.com/l/_UPZiDVL44dxU


6. Prove the identity  with the help of

given figure . 

Watch Video Solution

sin2 θ + cos2 θ = 1

7. A person standing at a distance of 90 m from a church

observes the angle of elevation of its top to be  . Find the

height of the chruch .

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_UPZiDVL44dxU
https://dl.doubtnut.com/l/_HwCEifxfLpO6
https://dl.doubtnut.com/l/_Wl5DnB7dQTHx


8. 

Watch Video Solution

=
tan θ + sin θ

tan θ − sin θ

sec θ + 1

sec θ − 1

9. If  , then prove that 

Watch Video Solution

cos θ + = 4
1

cos θ

cos2 θ + = 14.
1

cos2 θ

10. Prove that : 

Watch Video Solution

sec6 x − tan6 x = 1 + 3 sec2 x × tan2 x

https://dl.doubtnut.com/l/_Wl5DnB7dQTHx
https://dl.doubtnut.com/l/_5wZ6JvlWc3eb
https://dl.doubtnut.com/l/_PWmmx40lxqYO


11. A tree breaks due to storm and the broken part bends, so

that 

the top of the tree touches the ground making an angle of

 


with the ground . The distance from the foot of the tree to

the point 

where the top touches the ground is 5 metres .

Find the height of the tree. ( )

Watch Video Solution

60∘

√3 = 1.73

12. Two buildings are in front of each other on a road of width

15 metres. From the top of the first building , having a height

of 12 metre , the angle of elevation of the top of the second

building is  . What is the height of the second building ?30∘

https://dl.doubtnut.com/l/_jfPNj8DDWiAX
https://dl.doubtnut.com/l/_zAqEEHWEwF2m


Watch Video Solution

13. If  = 1 then find the vlue of 

Watch Video Solution

tan θ
sin θ + cos θ

sec θ + cos ecθ

14. A straight
 highway leads to the foot of a tower. A man

standing at the top of the tower observes
a car at an angle of

depression of 
 , which is
 approaching the foot of the

tower with a uniform speed. Six seconds later, the
 angle of

depression of the car is found to be . Find the time taken

by the car to reach the foot of the tower from this point.

Watch Video Solution

300

600

https://dl.doubtnut.com/l/_zAqEEHWEwF2m
https://dl.doubtnut.com/l/_QrI8VczewYhw
https://dl.doubtnut.com/l/_bYctOMksTZ3v


15. If  then prove that 

Watch Video Solution

sec θ + tan θ = p = sin θ
p2 − 1

p2 + 1

16. If  find the acute angle .

Watch Video Solution

3 tan2 θ − 4√3 tan θ + 3 = 0, θ

17. Eliminate  if  and 

Watch Video Solution

θ x = a cot θ − b cos ecθ

y = a cot θ + b cos ecθ.

https://dl.doubtnut.com/l/_Nm5tkVeM4vYm
https://dl.doubtnut.com/l/_eI0ZzlkyErEk
https://dl.doubtnut.com/l/_cfJt2eK1jfX7

